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(1) SFMA4E6A2IHREREANLEEHREN
5 ES % 5 X
T X HT 4, 5 S &t T X HT 44 B S it
1 X it 180, 185  213,522] 393, 707 %5 5 Xt 174,569 192,252 366, 821
RO X 79, 671 94, 233] 173,904 il s 150, 366]  165,259] 315,625
e ES 49, 695 59, 077| 108, 772 BE 58 5t 24, 203 26, 993 51, 196
B X 50, 819 60,212 111,031 R 31, 784 34, 630 66, 414
JIl 78 12,619 14, 494 27,113
— H 43, 948 47, 867 91, 815
5 [X. PR g LT 16, 148 17, 749 33, 897
T X HT 4, 7 S B # R 9,127 10, 058 19, 185
2 [XEF 183,018] 202, 772] 385, 790 BT 24, 963 27, 540 52, 503
£ JE X 43,637 47,152 90, 789 g Sk i 11,777 12,921 24, 698
ik ES 84, 669 95,297|  179,966| [IJE 11,851 13, 296 25, 147
£ H KX 37, 346 41, 357 78, 703 ¥4 )| 11,851 13, 296 25, 147
=S 17, 366 18, 966 36,332] |EHEB 12, 352 13, 697 26, 049
H kT 6, 757 7,502 14, 259
iR R T 5, 595 6, 195 11, 790
5 [X.
T X HT 4, 7 S &t
% 3 Xk 144,409 169, 691 314, 100 3 6 X
ZH BB X 61, 374 72,630 134, 004 T X T4, B S i
i K X 83, 035 97, 061 180, 096 %6 X it 217,698 248, 723] 466, 421
38 5t 217,698 248, 723] 466, 421
gt il 80, 695 87,063] 167,758
5 [X. ElE- Wil 88,244  105,436| 193, 680
T X HT 4, 7 S B JI| 78 T 48, 759 56, 224 104, 983
A X EF 202, 043] 218, 652] 420, 695
s 193,875] 209,858 403, 733
AR 58 8, 168 8, 794 16, 962 5 7 X
(] S 95,330 103,893 199, 223 T X KT 44 E S i
[ 15, 706 17, 436 33, 142 w7 X EF 203,366 239,776 443,142
= K ifi 30, 541 33, 296 63, 837 i E 203,366 239, 776] 443,142
/N BT 19, 025 20, 233 39, 258 [EN=iE 168, 078 195,066 363, 144
v 17, 496 18, 561 36, 057 J=l =ikl 35, 288 44, 710 79, 998
o T 15, 777 16, 439 32,216
% Al 8, 168 8, 794 16, 962
% A 8, 168 8, 794 16, 962




( & #H )
T X HT 4, 7 S &t
I 2k | 2,160,218] 2,412, 128 4,572, 346
i | 2,059, 079] 2,302, 091] 4, 361, 170
(#EiEk) | 585,576 670,912 1, 256, 488
g 101,139] 110,037 211,176
s 11 X
T X HT 44 B S g
F11 X e 191,877l 207,757 399, 634
5 8 X s &t 191,877 207,757 399, 634
T X HT 4, 5 S B - 191,877 207, 757] 399, 634
% 8 X it 185, 677] 200,643 386, 320
i EF 185,677 200, 643] 386, 320
Je. IR i 185,677]  200,643] 386, 320 e 12 X
T X HT 44 B S it
H12X 2t 135,628]  148,084] 283,712
il s 93,035 101,819] 194, 854
5 9 ES i 42, 593 46, 265 88, 858
T X HT 4, B S B M B T 18, 244 19, 731 37, 975
O X2 173,301] 190, 626] 363,927 A T 11, 449 12, 555 24, 004
i 173,301] 190, 626] 363,927 7= o0 29, 985 32, 846 62, 831
B A 120, 062  131,903] 251,965 oRORE T 18, 742 20, 562 39, 304
WA T 17, 222 19, 316 36, 538 R EWN 14, 615 16, 125 30, 740
FdHb U 18, 590 20, 181 38, 771] iR AR 16, 537 18, 168 34, 705
R Tl 17, 427 19, 226 36, 653 ) 4,401 4,949 9, 350
i JI Wy 4,775 5,123 9, 898
f& ey WY 7,361 8, 096 15, 457
HRAR 13, 440 14, 365 27, 805
K A W 13, 440 14, 365 27, 805
o 10 X IRBERD 6,014 6, 479 12, 493
T X HT 4, 7 S &t = BE T 6,014 6, 479 12, 493
10X EF 168, 447]  179,630] 348,077 W HEE 6, 602 7,253 13, 855
i #B &t 142,272 151, 645] 293,917 = T 6, 602 7,253 13, 855
BB 5 B 26, 175 27, 985 54, 160
) 106, 426] 113,097 219,523
SR ] 35, 846 38, 548 74, 394
N ER 26, 175 27,985 54, 160
f 3 HT 12, 407 13,215 25, 622
% & W7 13, 768 14, 770 28, 538




(2) FHIEZExEE

X o7 5 58 H Il

i 1 2 3
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Q) FH4F6 A2IAREENEZANLBFEZHEN

NILIES B L8 At NILIES B L8 g
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i ¥ T 57 97 154 % w\] HT 5 6 11
J2. W i 94 126 220 fig 35 WY 5 4 9
Bl A i 59 61 120 £ B Wy 6 12 18
WO 175 224 399 A {A] HT 1 5 6
WA T 9 5 14 i )il HT 5 4 9
== 42 104 146 & e W7 2 1 3
Jt il 47 57 104 K1 WY 4 9 13
A 2 8 10 = AR WY 0 2 2
EEiE 14 24 38 = W] 1 5 6
& H 33 52 85 & £ W] 3 ) 8
)il 11 20 31 TR R T 2 3 5
IR B T 6 7 13 R
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& W T 10 16 26

JII V8 1 38 68 106

N B 5 6 11

—~ W 29 36 65

G 5 6 11

L T 10 12 22
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g Sk 7 6 13

g 5 15 20

K BE W 4 9 13
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4) EFALBEREROBR (FEHEZEANZR)
7 T2 28 Mg 2 Gk T /o,
X4y (R4.7.10) (A)
] s =F
= H 2,160, 218 2,412,128 4,572, 346
il 2,059, 079 2,302,091 4,361, 170
Wy 101, 139 110, 037 211,176
T A M 2K T T 32 27 P Bk B g .
X755 (B) RI.7.3) (C)
] s =F ] I =T
= F 2,152, 230 2,406, 038 4, 558, 268 2,191, 770 2,438, 892 4,630, 662
il 2,051, 408 2,296, 332 4,347, 740 2,087,723 2,325, 480 4,413, 203
Wy 100, 822 109, 706 210, 528 104, 047 113,412 217, 459
%4y (A) — (B) (A) — (C)
I s = 7 oS z
B H 7, 988 6, 090 14, 078 -31, 552 —26, 764 —58, 316
il 7,671 5, 759 13, 430 -28, 644 -23, 389 —52, 033
Wy 317 331 648 -2, 908 -3, 375 -6, 283




